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: 100kN/m#%#%%| 1.00| 000 ~ 1.49 122.77 |3mZ#BZ S -~ — — —| 100kN/m#%#E%%| 1.00 [11.12 ~ 1751 122.77 |3mZ#BZ 5 -~ — — —
Thilst 1.00| 149 ~ 928 100.00 | Thlist | 000 ~ 9.28 | 2.21 11.83 Thilst 1.00| 500 ~ 1112 100.00 | Zh kst | 500 ~ 1751 | 2.21 11.83
’ 100kN/mi%#8x%| 1.00| 000 ~ 145 12211 |3m%#BZ 5 -~ — - —|[ 100kN/mi%#8z%| 1.00|11.45 ~ 18.28 12211 |3m%HB25 -~ - - -
Zhst 100 | 145 ~ 924 100.00 | ZhList | 000 ~ 924 | 218 11.64 Fhst 100 | 500 ~ 1145 100.00 | #h L5t | 500 ~ 1828 | 2.18 11.64
3 100kN/m##8%25%| 1.00| 000 ~ 205 131.73 |3m%#A3 -~ - - —|[ 100kN/mM%E#%5| 1.00|12.25 ~ 3252 131.73 |3m%#A3 — ~ — — —
Fhst 1.00| 205 ~ 984 100.00 | #hkist | 000 ~ 984 | 282 15.08 Fhst 1.00| 500 ~ 1225 100.00 | #h kst | 500 ~ 3252 | 2.82 15.08
4 100kN/mi%#8%2%| 100| 000 ~ 269 142,43 |3m%#Ai5 -~ - - —|[ 100kN/m%E#E %% 1.00 [11.31 ~ 38.60 14243 |3m%E#BA5 -~ — — -
Zhst 1.00 | 269 ~ 10.48 100.00 | Zh L5t | 000 ~ 1048 | 2.91 1557 Fhst 100 | 500 ~ 11.31 100.00 | #h kst | 500 ~ 38.60 | 2.91 15.57
5 100kN/m##%%| 1.00| 000 ~ 3.10 14935 |3m#%#x 5| 000 ~ 0.05| 3.03 16.19 | 100kN/m%#8 25| 1.00 [10.72 ~ 34.74 14935 | 3m%#75(3000 ~ 34.74 | 3.03 16.19
Zh st 1.00| 3.10 ~ 10.88 100.00 | #h kst | 005 ~ 10.88 | 3.00 16.05 Thst 1.00 | 500 ~ 10.72 100.00 | #h kst | 500 ~ 30.00 [ 3.00 16.05
6 100kN/m##8%25| 1.00| 000 ~ 3.02 148.08 |3m#%#x 5| 000 ~ 0.12| 3.06 16.36 | 100kN/m%#8%%| 1.00 [10.64 ~ 30.21 148.08 | 3m%#8%5%|30.00 ~ 30.21 | 3.06 16.36
Zhst 1.00 | 3.02 ~ 10.81 100.00 | #h kst | 012 ~ 10.81 | 3.00 16.05 Zhst 1.00 | 500 ~ 1064 100.00 | Zh kst | 500 ~ 30.00 | 3.00 16.05
. 100kN/mi%#8%2%| 1.00| 000 ~ 268 14230 |3m%#A 5 -~ - - —|[ 100kN/m%E#B %% 1.00 [11.08 ~ 31.80 142.30 |3m%E#A5 -~ — — -
Zhst 1.00 | 268 ~ 1047 100.00 | Zhkist | 000 ~ 1047 | 2.94 15.76 Fhst 1.00| 500 ~ 11.08 100.00 | #h kst | 500 ~ 31.80 | 2.94 15.76
8 100kN/m##8%2%| 1.00| 000 ~ 287 14549 |3m%#A3 -~ - - —|[ 100kN/m%#%%| 1.00 |10.91 ~ 33.35 14549 |3m%#A3 — ~ — — —
Fhst 1.00 | 287 ~ 10.66 100.00 | #hkist | 000 ~ 10.66 | 2.98 15.93 Fhst 1.00 | 500 ~ 1091 100.00 | #h kst | 500 ~ 3335 2.98 15.93
0 100kN/m##%%| 1.00| 000 ~ 3.20 151.21 |3m#%#x 5| 000 ~ 0.06 | 3.03 16.21 | 100kN/m%#8%%| 1.00 [10.71 ~ 38.49 151.21 |3m%#%5%|30.00 ~ 3849 | 3.03 16.21
Zhst 1.00 | 320 ~ 10.99 100.00 | #h kst | 006 ~ 10.99 | 3.00 16.05 Fhst 1.00 | 500 ~ 10.71 100.00 | #h kst | 500 ~ 30.00 [ 3.00 16.05
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ zhs ~ zhnst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thilst ~ Thist ~ Thils ~ Thist ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ zhns ~ zns ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzhn st ~ zhn st ~ Zzh st ~
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